Two-Tone (Solution)

The finished grid is shown below. In order to make all the clues work, some letters must be
stretched so that they fill two consecutive squares. Those letters, in spiraling order, spell the answer,
HARLEQUIN.
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18. CONSOLE 31. UNISON

19. COST 32. DOWNHILL

20. STOLEN 33. WHILE

21. LENTILS 34. 1LLLL AT EASE

22. STAINLESS STEEL 35. LEAST

22. SANE 36. SHRILL

23. STEP 37. HERA

24. SELL 38. ISLE

25. PLIERS 39. LOANED

26. IRAQI 40. ONESIE

27. ESQUIRE 41. AND/OR

28. AQUI 42. SOIREES

29. ISRAEL 43, EURO

30. SALUTED 44, SPOT

31. UNTIES 45. UPROOT
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